El;ﬁiﬁai(%mﬂ”ﬁ

1 fou s R BT =0 - :
beaf s Feoamax dx = 2§ ananda <2 [~hceenr ]l

(e (-

ﬁ,,jw f_ mb(l-( ") b 1A THS

9 FO & [ o o 4y
L {z\i iw M. e-m dy {zTJgO e—w_t e—x‘cx dr

t-AT ] 0 [ -aA-ATA J ol
- — i 6 )
0o {2KL —=A-4T 0

o
. fx [a-it ¢
R S B -+ i R
~\ (a 1L+@+l‘c) ﬁ(afp) Ty |
JzEH(t) 55 by ey = [0 [ f(ﬁ 90-1) €‘T’(<{tdzA

- (Pq0 (2 qaveTgrdt ‘
;:M_f:;zt A-t=Y e d=dy &
e L gpe™e ™ dydt

2 f) br-alr) e T de S
= 27(' F(T)- G‘(" ) ERRTME. -




S(T){,ELSO; F0o0 AT dx
=F Sa (15 ) AT A 43
F[ Li-3y ot ), + (= 7 —zhcoeT da
E T féﬂf [’CAMTX]

Blh-ghuc) e
axb=”26~2\( T A5 2 )=(~2,l,~6)

P @)= (Comt,eint, )P
S(t)=ftlf‘c%)lc1t:ft5di:{—t B3 . TS

&)= (1-ahz, | =)

ﬂsrr”(s):-{——;(——cmg A, 1) |
H’(SJ:“ (/éfﬂ%,co?%, 0) &) KO=|r's)|==

i S < s
VJCS) 2,{3 (CQ?_’E/ _/dméf O) d)

1 ) ) ‘"Cf"?’?* AN % \ [ .
Ts)= e '35' A'”T‘ xi 0 =2l
(RE -4z 0

T VE=0x.29,22) §) (2,4.6) & BARMEETNIHVRDS
‘L(l 2,3) TH3 .



